English

1. Complete the sentence.
There were students in the class.
(A) Heavy (B) Little (C) Many (D) Some of the

2. She always at 5 AM every day.
(A)Getup (B) Gotup (C) Wakesup (D) Wake up

3.She completed her homework.
(A) Have B . Has (C) Is (D) Was

4. Change this sentence into a question: "She went home yesterday night."
(A) When do she go home? (B) When has she gone home?
(C) When did she go home? (D) When did she went home?

5.When | visited him in Mumbai, he there for five years.
(A) Teaches (B) is teaching
(C) had been teaching (D) has been teaching

6. Complete this sentence: "If she had told him about the problem,
(A) "he would solve it." (B) "he would have solved it."
(C) "he would had solved it." (D) "he solved it."

7.Change into passive: "The thief stole the woman's purse."
(A) The woman's purse has been stolen by the thief."

(B) The woman's purse was stealing by the thief."

(C) The woman's purse had been stolen by the thief."

(D) The woman's purse was stolen by the thief."

8.My friend is good .
(A) in speaking English (B) at speaking English
(C) in speak English. (D) at speak English

9.Tom about their lives.
(A) wants that people think (B) want people think
(C) wants people to think (D) wants people thinking

10. Change the following into a question: "No, my sister doesn't play an instrument
(A) Your sister play an instrument? (B)Is your sister playing an instrument?
(C) Do your sister plays an instrument? (D) Does your sister play an instrument?

11. | would have come to your party if you me.
(A) invited (B) would have invited
(C) had invited (D) did invite




12. Turn this sentence into an active sentence: "We were given no homework by the

teacher."

(A) The teacher didn't give us any homework.
(B) The teacher hadn't given us any homework.
(C) The teacher hasn't given us any homework.

(D) None of these

13. Change the sentence into negative form "l spoke to him last week."

(A) I don't spoke to him last week
(C) 1 didn't speak to him last week

14.We
(A) know
(C) have known

15.Next year, my mom

(A) will
(C) will be

16. | would learn more vocabulary if |
(A) had
(C) had had

17.Look at these dark clouds: It

(B) I not spoke to him last week
(D) I didn't spoke to him last week

each other for the past ten years.

(B) are knowing
(D) had known

celebrate her 80th birthday.
(B) is going to
(D) would

more time.

(B) would have
(D) have

rain soon.

(A) is raining
(C) rains

Give the correct preposition:
18. My birthday is _ Monday.
(A)in
(C) at

19 He goes to school __ bus.

(A) on

(C) by

20. Which word is correctly spelled?
(A) defination

(C) excercise

21. Can you show me the way to the hotel? is an

(A)Assertive
(C) Exclamatory

22. Fill in the blanks with the correct form of pronoun | am one year older than

(A) he (B) him

23. Identify the noun in the sentence.

Are these oranges fresh enough ?
(A) Oranges (B) are
24. What is the synonym of 'hard'?
(A) difficult (B)easy

(C) fresh

(B) is going to
(D) will

(B)on
D)by

(B) in
D) with

(B) attendence

(D) division

sentence.
(B) Interogative

(D) Optative

(C) his (D) all of these

(D)enough

(C)little




25.Convert into indirect speech

He said,"l will get good marks in this papr"

(A) He said that | would get good marks in this paper.
(B) He said that he would get good marks in that paper
(C) He said that he would get good marks in this paper
(D) He said that | would get good marks in that paper.
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